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The authors proposed the multi-tuning viscous mass dampers with spring and its optimum design 

method based on fixed points theory. Vibration control effects of single-tuning type dynamic absorber are 

very sensitive to changes of parameters such as the natural frequency of the controlled object and the 

damping coefficient of  the absorber itself. This paper shows this damper system improve the robustness 

of vibration control performance by multi-tuning and this damper system can reduce magnification factor  

than conventional single-tuning type dynamic absorber.  
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